MATHEMATICS CURRICULUM Lesson 15 Sprint

A # Correct
Solve.
1 10x 10 = 23 24 x 10% =
2 10% = 24 | 247 x102=
3 | 10°x10= 25 | 24.07 x 102 =
4 10° = 26 | 24.007 x 10% =
5| 10°x10= 27 | 53 x 1000 =
6 10% = 28 | 53x10%=
7 3x100 = 29 53.8 x 10° =
8 3x10%= 30 | 53.08 x 10° =
9 3.1x10° = 31 | 53.082 x 10° =
10 | 3.15x10%= 32 | 9.1 x10,000 =
11 | 3.157 x 10° = 33 9.1x 10* =
12 4 x 1000 = 34 | 91.4x10%=
13 4 x10° = 35 | 9.104 x 10* =
14 | 4.2x10%= 36 | 9.107 x 10* =
15 | 4.28 x 10> = 37 1.2x10% =
16 | 4.283 x 10° = 38 | 0.35x10°=
17 | 5x 10,000 = 39 | 5.492x 10*=
18 5x10% = 40 | 8.04 x10°%=
19 5.7 x10* = 41 | 7.109x 10* =
20 | 573x10%= 42 | 0.058 x 10° =
21| 5.731x 10% = 43 | 20.78 x 10° =
22 24 x 100 = 44 420.079 x 10% =

© Bill Davidson



MATHEMATICS CURRICULUM Lesson 15 Sprint

B Improvement # Correct
Solve.
1 10x10x 1= 23 42 x 10° =
2 10% = 24 | 427 x10%2=
3 10°x 10 = 25 | 42.07 x 102 =
4 10° = 26 | 42.007 x 102 =
5 10° x 10 = 27 | 35x1000 =
6 10* = 28 35 x 10° =
7 4 x 100 = 29 358 x 10°% =
8 4 x10% = 30 | 35.08 x 10% =
9 41x10%= 31 | 35.082x 10% =
10| 4.15x10%= 32 | 8.1 x10,000 =
11| 4.157 x10% = 33 8.1x10%=
12 5 x 1000 = 34 81.4 x 10% =
13 5x 10% = 35 | 8.104 x 10% =
14 5.2x10°% = 36 | 8.107 x 10* =
15| 5.28x10°= 37 1.3x10% =
16 | 5.283x10° = 38 0.53x 10° =
17 | 7 x 10,000 = 39 | 4.391 x10%=
18 7 x10% = 40 7.03x10° =
19 7.5x10% = 41 6.109 x 10 =
20| 7.53x10%= 42 | 0.085x 10% =
21| 7.531x10% = 43 | 30.87 x10% =
22 42 x 100 = 44 530.097 x 102 =

© Bill Davidson

Name Date




MATHEMATICS CURRICULUM Lesson 15 Problem Set

1. Draw number disks on the place value chart to solve, and show your steps using long division.

a. 05+2=

Ones |e@ Tenths Hundredths Thousandths
b. 5.7+4=

Ones |e@ Tenths Hundredths Thousandths

4,5. 7

2. Solve using the standard algorithm.



MATHEMATICS CURRICULUM Lesson 15 Problem Set

a. 09+2-= b. 9.1+5= c. 9+6=

d. 0.98+4= e. 93+6= f. 91+4-=

3. Six bakers shared 7.5 kg of flour equally. How much flour did they each receive?

4. Mrs. Henderson makes punch by mixing 10.9 liters of apple juice, 600 milliliters of orange juice, and 8
liters of ginger ale. She pours the mixture equally into 6 large punch bowls. How much punch is in each

bowl!? Express your answer in liters.

Name Date

1. Draw number disks on the place value chart to solve, and show your steps using long division.



MATHEMATICS CURRICULUM Lesson 15 Exit Ticket

09+4=

Ones |e@ Tenths Hundredths Thousandths

410.9

2. Solve using the standard algorithm.

9.8+5=

Name Date

1. Draw number disks on the place value chart to solve, and show your steps using long division.

a. 0.7+4-=



MATHEMATICS CURRICULUM

Lesson 15 Homework

Ones |e@ Tenths Hundredths Thousandths
b. 81+5=
Ones |e@ Tenths Hundredths Thousandths

2. Solve using the standard algorithm.

4/0. 7

5/8.1



MATHEMATICS CURRICULUM Lesson 15 Homework

a. 0.7+2= b. 39+6= c. 9+4=

d 092+2= e. 94+4-= f. 91+8-=

3. Arope 8.7 mlongis cut into 5 equal pieces. How long is each piece?

4. Yasmine bought 6 gallons of apple juice. After filling up 4 bottles of the same size with apple juice, she

had 0.3 gallon of apple juice left. What's the amount of apple juice in each bottle?



